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OPTIMUM PURCHASE RULE
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ﬁu satisfaction

Mark will only make a purchase if
he thinks he will get 1 util of
satisfaction per $1 that he spends

If we get a lot of satisfaction froma
product, we will be willing to pay a
high price for it

FEOO

If we get only a small amount of
satisfaction from a product, we will
only be willing to pay a low price for it
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For example, if Mark gets
2 utils of satisfaction from
a dvd hire he will be
willing to pay $2 for it
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For example, if Mark gets 1 util of
satisfaction from a dvd hire he
will only be willing to pay $1 for it
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Optimum purchase rule

The rational consumer will continue
purchasing a product until the price = MU
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Consumers cannot purchase until P=MU as our income
is limited

Instead, we arrange our spending so the MU per last
dollar spent is the same
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1. What should Donna buy next, the drink or the ice
cream?

2. Using economic theory, explain your answer

2 utils of 7 utils of
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P—— Assuming Donna has $3 she is better off if she
Southern Cross School purchases the ice cream as she gets a higher
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Marginal utility and total utility

There is a relationship between marginal
utility and total utility
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‘Thereis a relationship between marginal
utility and total utility

utils

Class Discussion

1. WhenMU is
positive, TU is
increasing, why?

2. When MU is below
zero, then TU will
fall, why?

3. Whatwould a
rational consumer

do if MU was
negative?
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Diminishing marginal utility

As consumption increases, marginal
utility decreases

this is the law of
diminishing marginal utility

This is why firms lower their prices to get
consumers to buy more.
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ntuitive derivation of individual demand curve

Marginal utility represents the extra
satisfaction consumers gain from consuming
successive units of a good

It follows that if marginal utility decreases,
then a rational consumer will be less willing to
pay as much for each successive unit

This reflects the law of demand...

(And it explains why a 3 scoop icecream only

I costs a bit more than a double scoop!)




